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Geometry Homework #4 — Answer Key

X=28
x=42

X = 13\/5
%T7 or 6.75 feet

x=7

X=2\/§

x =16, 58 degrees and 122 degrees

AB: Midpoint =(1,%), Distance = /65 Slope = %1
BC: Midpoint =(4,l), Distance = /85 Slope = %
CD: Midpoint =(—1, 27) Distance = /65 Slope = gl

DA: Midpoint =(—4, %) , Distance = /85 Slope = %
ABCD is a parallelogram

X:18\/_

AB: Midpoint = (— 6), Distance = Ja1 Slope =

BC: Midpoint =(3,3), Distance = 2+/41 Slope =

CD: Midpoint =(§ —4), Distance = J41 Slope =

DA: Midpoint =(-2,—1), Distance = 2@ Slope = _TS
ABCD is a rectangle

90 degrees x =—22 andy =28

AB: Midpoint =(—5,§) , Distance = 5 Slope = %

BC: Midpoint =(§,§), Distance = \130 Slope = I_f
CD: Midpoint =(2,— ) Distance = 15 Slope = %

DA: Midpoint =(7,7), Distance = 3410 Slope = _T3
ABCD is a trapezoid

1
8}
A 7
. s B
5 L
4
3|
1
W8 765432 45678 910
D[ g
. 3|
4
5
4
7
8}
9
1
B
93}
7
6
A 4
A 5
L 2 4I
3
2
1
09 8 76543 . 45678910
3 C
2 o
.3I
4
5
4
7
8}
9
1
9
g}
7
6
B 5
o4
3|
A 2 C
* ) ¢
0987654321, 45678910
2
3
j
5
4
7
DQ 8}
9




13) 902 feet
14) 107 degrees and 73 degrees, x=19,y=13,a=-20

15) AB: Midpoint =(—4,4), Distance = 62 Slope =

p— |

-1
1
. : 1

CD: Midpoint =(2,-2), Distance = 62 Slope = I

BC: Midpoint =(2,4), Distance = 62 Slope =

DA: Midpoint =(—4,-2), Distance = 6+/2 Slope = _Tl
ABCD is a square

16) 137 degrees and 43 degrees, x=24,y=-17,a=7
17) AB: Midpoint =(-5,2), EF: Distance = /65 Slope =

SIES

BC: Midpoint =(2,6), FG: Distance = \/65 Slope = %

CD: Midpoint =(1,—2), GH: Distance = /65 Slope = ;

DA: Midpoint =(—6,-6), HE: Distance = /65 Slope =
EFGH is a parallelogram

18) 340 feet

19) ABC is an acute triangle
AB: Midpoint =(—1,4)
BC: Midpoint =(3,-1)

AD: Distance = /29 Slope = %

DE: Distance = \/ﬂ Slope = _TS
EC: Distance = 5\/5 Slope = %
CA: Distance = 2\/5 Slope = _TS

ADEC is a trapezoid
20) x=5
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